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General Answer Format:

Each Sudoku has two marked rows
or columns. You need to submit all
digits in the corresponding
directions, from left to right or from
top to bottom.

In the example, the two answer
keys are:

1A: 367594218
1B: 283749165

All puzzles will use digits 1-9 in the
submission.

Submission Page:

http://gp.worldpuzzle.org/content/
sudoku-gp

Version:
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This is version 1 of the instruction booklet.
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1-5 Classic Sudoku
Place a number from 1-9 in each empty cell in the grid such that each row, column and marked 3x3
box contains each number exactly once.

Example Solution

118 214 59 1|8 6(2]4|7 3
6 9 1 36 7|5 9/412/1 8
8 9 82 411 7/3]6/5 9
1 9 85 6 113 2|19 85|74 6
4 3 / 8 64 5|3 17|98 2
9 412 6 1 9|7 84 2[/6]5/3 1
7 4 715916 31182 4
8 4 6 2/8 3|7 4/9]1|6 5

6|2 8|3 411,612 58139 7

6 Consecutive Sudoku
Apply classic sudoku rules. Adjacent cells containing consecutive numbers are marked. Adjacent
cells with no marking must not contain consecutive numbers.

Example Solution
_ I 38/4]2/9/6[5 1 7
— 1 | 57/2|8/3 1[4 96
o i 169l475|283
— | 3] [ 2 5/8l6/1/3[97 4
| — 9 41|75 8[36 2
|9 _ 7 36[924|158
— L 8 2/5[3 69|74 1
|5 — 4 17|58 2[6 39
] | 6 93|14 7(8 2 5
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7 Non-Consecutive Sudoku
Apply classic sudoku rules. Numbers placed in adjacent cells must not be consecutive.

Example Solution
2 3 8 1 42 713/6 8/5/1|9
8 1 4 86 3|9/ 15|2 7|4
5 9/1]7/4 2|16 3|8
/ 3 /719152 6|4 83
8 2 3 85|17 4|9 2|6
6 1 6 4 2]|8/3 9]7 5|1
2/ 7/416/8 3|1 9|5
9 5 / 93 6|25 1|8 4|7
5 4 / 6 15 8[4/9 7|13 6|2

8 Kropki Sudoku

Apply classic sudoku rules. Adjacent cells containing consecutive numbers are marked with a white
dot. Adjacent cells containing numbers whose ratio is 2 are marked with a black dot. Adjacent cells
with no marking must not contain numbers that are either consecutive or whose ratio is 2.

Example Solution
KN . 7 5/273¢6 8|1 4 9
B i N 4 9/6[1 7 2|8 5 3
. .o o 8 (‘3 1 £.|.05 OlBeo7 | 2
¢ ol 16412 9 5|7 3 8
o) &n? 'o 5 807$§?3 119 204
K "o e 302/9[708e4¢5 1 6
° 1.0 607 |5]9 2@1{{1;8 1
i o”“if% 2i1 8[504 643 9 7
0 Q 9 4038 1 7|2 695
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9 Parity Sudoku
Apply classic sudoku rules. All numbers placed in the cells belonging to the same line must be of the
same parity.

Example Solution
6 4 5 6/7/118|4|2]3|9|5
9 1 2 5/9/4|3|7(1]16]/2]|8
8 1 812|3|6/9(5|1/4]7
8 4 3 218|9|1115/4|7|3|6
7 3 4 7111519/3|6|28 |4
4 7 5 3/4(6|72|8]9/5|1
2 3 115/2]14/6|9|8|7|3
6 2 1 4 6|7|2/8(3|5|1]9
9 1 2 9/3|8|5/1(7]|4|6]|2
10 Outside Sudoku

Apply classic sudoku rules. The numbers outside the grid must appear within the first three cells in
the corresponding direction.

Example Solution
2 2
4 A 6 3 4 1 6 3
9 3 8 7 51 7 9 3 8 7 5 1 7
46 3 461411 6|8/ 5/9(2 3 7|3
38 46 38|83 512 1/7]9/4 6|46
158 9/ 2 7|6/4/3|5/1 8|]158
1 3 1175119 8 6|42 3|3
349 68 349|3/9/4|7 2 5|8 6 1|68
68 59 6812 6/814/3 1|7/5/9]|59
579 579|5/7/9|13 6 2(1 84
29 1 8 3|57 4|16 9/2]|29
4 35 416142119837 5|35
1 7 9 3 2 1 7 2 1 7 9 3 2 1 7 2
4 8 4 8
8 8
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11 Outside Greater Than Sudoku
Apply classic sudoku rules. The signs outside the grid indicate how many inequality signs should be
placed between neighbouring cells in corresponding direction.

Example Solution

5 4 4 3 4 3 4 2 8v 5 4 4 3 4 3 4 2 8v
>< 3 4 4 5 4 5 4 6 0A >< 3 4 4 5 4 5 4 6 0A
4 4 4418|6|7|1]13|2]|5(|4|9
4 4 1 4 4419|1/3|7/5/412|6|8
53 2 3 53|5(4/2|8/9/6|3[|1|7
35 3 2 3514|8513/ 7|/911[2|6
4 4 4 4411/2(9|6|4|8|7|3|5
53 7 %) 53|3|7(6|2|/1/5]9|84
6 2 8 6 62|7/9/8|4/2|1]6|5]|3
53 9 7 53|16(5/119/8|314|7|2
17 1712|3(4|5(6(7]18|9]|1

12 Tens Position Products Sudoku

Apply classic sudoku rules. Number between a pair of adjacent cell indicates the number in the tens
position of the product of the numbers placed in these cells (e.g. if 3 and 4 are placed in the cells,
their product is 12 and the clue would be 1).

Example Solution
3 (3 ] 2| 4 7!5/311|9/4(2|8]|6
7 12| [3] 2 6(9/8|2|7/3|4|5]|1
0 o (5] 2 : 214|116|5/8(3|9|7
o « | .| o K 9(8|5|7|4/1|6|2|3
0 3 2 116(2(8(3/5|9|7 |4
4| > : o |5 4371926815
1 2 [1] 3 2 8(2|6|4|1/7|5|3|9
° |3],19] ¢ 5(1/4|3|8/9|7|6]|2
2 |9 1] 3/7/9|5|6/2(1]|4]|8
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13 Extra Space Sudoku

Place a number from 1-9 in each empty cell in the grid such that each row, column and marked box
contains each number exactly once. The grey cells will not contain numbers.

Note: The original size of this puzzle is on the next page.

Example Solution
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13 Extra Space Sudoku

Example




